
EE 230 —  HW 2.29               Name_________________________________________

For the second-order filter circuit shown at right, calculate 
the transfer function (in symbols).  (Yes, it is a bit messy.)  
What type of filter is it?  

For the component values given, calculate fo, QP, Go, and 
the bandwidth (in Hz).  (Oops, there’s a clue in there.)

 
 
T(s) =  ____________________________________________________________________________

 
type:  ______________________________________________________

fo = ________________; QP = _______________; Go = _______________; BW = ________________ 
 
 

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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